Questions 13 to 18 are based on material covered in Chapter 2.

13 Io & mood assessnent inal, individuals sere assessed daily as *depressed” or
‘not depressed’. In fact it is not quite adequate to model the sequence of daily
mal states as wdependent 0-1 trials, because for given respondents there
was considerable correlation between the moods from day bo day (and you will
ser how to model thiz sort of dependence in Chapler 12}, However, assuming
for the moment Lhat there 5 independence from day to day, and that the
probability of being ‘depressed’ is 0.15 in the population under investigation,
say which of the following options can be wsed to simulate & sequence of one
wieek's moads.

A aum{dice(T,2}) B brand(7,0.15}

C dice(7,2) D binow(x,T,.15)

E dice(7,7) @ triall?,0.15)

G Binom{7,7,0.15) H aum{trial(T,0.15})

14 Assuming that the random varisble T has a trianpular distribution with par-
ameber 8 = 360, select from the following options the probabadity P(T > 180)
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A 0.500 @0259 C  0.750 D 0.333 =T ‘:;,

E 0O.6&7 125 = 0.875 H 0.393 i

15 Choose from the following options Lhe ]_m‘!-]_m]_n!;l}' .i"'l: X = 4} when _.‘i:' T3 '|'_|-1-
nowmial B10,0.4) LA n' 7. L.:.

ol

A 02180 B 0.3823 L R I B 01662

E 0.B1TT Fo0.2007 G 0.6331 H/S 0.2508

16  Choose from the fedlowing options the 35C command to give the probability
PiX = 4) when X iz binomial B{12,0.28).

A binom{4,12,0.28) B Binom{4,12,0.28)

€ __Binom(3,12,0.26) D i-binom(4,12,0.28)
E 1-Binom{5.12,0.2E) F 1-Bipem(3,12.0.28)
@ Binom(s, 12,0, 267 H -Bifeal 12,0285}

17T Example 2.16 on page T of the course text describes a situation where a
student. sitting & fwenty-question multiple choice examination guesses answers
at random. Choose from the fellowing options the 35C command that could
ber nged fo simualade such a student's total seore on the paper (e the number
of questions that were correctly answered]. There are two correct oplions,

"B brand 2y 0.2 B R
A e o — D neqidice(20,5%,3)
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= sum{trial(20,0.2))

3

Condmmuakion of (heestion I7, Suppose that in the examination hall there are
3 such students, and it is required to simulate a vertor v containing their



